分数の引き算 [7]

月 日 時 分~ 時 分

名 前

①
$$1 - \frac{2}{4} =$$

②
$$1 - \frac{7}{8} =$$

$$3 1 - \frac{5}{6} =$$

$$\stackrel{\text{(4)}}{=}$$
 1 - $\frac{6}{7}$ =

$$\bigcirc 1 - \frac{3}{5} =$$

$$6 1 - \frac{3}{4} =$$

$$7 1 - \frac{5}{7} =$$

$$8 1 - \frac{5}{6} =$$

$$9 1 - \frac{8}{9} =$$

$$1 - \frac{8}{10} =$$

①
$$1 - \frac{5}{8} =$$

$$1 - \frac{4}{5} =$$

$$1 - \frac{7}{10} =$$

$$(4)$$
 1 - $\frac{3}{9}$ =

分数の引き算 [7]

①
$$1 - \frac{6}{7} =$$

②
$$1 - \frac{3}{5} =$$

$$3 1 - \frac{4}{9} =$$

$$\stackrel{\text{(4)}}{=}$$
 1 - $\frac{3}{4}$ =

$$\bigcirc$$
 1 - $\frac{4}{6}$ =

$$6 1 - \frac{9}{10} =$$

$$7 1 - \frac{7}{8} =$$

$$8 1 - \frac{8}{9} =$$

$$9 1 - \frac{7}{9} =$$

$$0 1 - \frac{2}{7} =$$

①
$$1 - \frac{7}{10} =$$

①
$$1 - \frac{5}{8} =$$

$$1 - \frac{2}{5} =$$

$$\frac{4}{6} = \frac{4}{6} = \frac{4}{6}$$

分数の引き算 [7]

①
$$1 - \frac{4}{5} =$$

②
$$1 - \frac{2}{3} =$$

$$3 1 - \frac{5}{6} =$$

$$\stackrel{\text{(4)}}{=}$$
 1 - $\frac{6}{8}$ =

⑤
$$1 - \frac{2}{3} =$$

$$6 1 - \frac{6}{10} =$$

$$7 1 - \frac{7}{9} =$$

$$8 1 - \frac{4}{5} =$$

$$9 1 - \frac{4}{7} =$$

①
$$1 - \frac{7}{9} =$$

①
$$1 - \frac{4}{8} =$$

①
$$1 - \frac{6}{7} =$$

$$1 - \frac{8}{10} =$$

$$(4)$$
 1 - $\frac{5}{6}$ =

分数の引き算 [7]

①
$$1 - \frac{5}{7} =$$

②
$$1 - \frac{4}{6} =$$

$$3 1 - \frac{2}{4} =$$

$$\stackrel{\text{(4)}}{=}$$
 1 - $\frac{4}{8}$ =

$$\bigcirc$$
 1 - $\frac{3}{6}$ =

$$6 1 - \frac{6}{10} =$$

$$7 1 - \frac{6}{9} =$$

$$8 1 - \frac{7}{8} =$$

$$9 1 - \frac{5}{10} =$$

$$1 - \frac{6}{7} =$$

①
$$1 - \frac{7}{8} =$$

$$1 - \frac{3}{7} =$$

$$\frac{1}{1} - \frac{8}{9} =$$

分数の引き算 [7]

①
$$1 - \frac{2}{4} = \frac{2}{4}$$

$$2 1 - \frac{7}{8} = \frac{1}{8}$$

$$3 1 - \frac{5}{6} = \frac{1}{6}$$

$$4 1 - \frac{6}{7} = \frac{1}{7}$$

$$\boxed{5}$$
 $1 - \frac{3}{5} = \frac{2}{5}$

$$7 1 - \frac{5}{7} = \frac{2}{7}$$

$$8 1 - \frac{5}{6} = \frac{1}{6}$$

$$9 1 - \frac{8}{9} = \frac{1}{9}$$

$$1 - \frac{5}{8} = \frac{3}{8}$$

$$1 - \frac{7}{10} = \frac{3}{10}$$

$$^{\text{4}}$$
 1 - $\frac{3}{9}$ = $\frac{6}{9}$

分数の引き算 [7]

①
$$1 - \frac{6}{7} = \frac{1}{7}$$

$$2 1 - \frac{3}{5} = \frac{2}{5}$$

$$3 1 - \frac{4}{9} = \frac{5}{9}$$

$$\stackrel{\text{(4)}}{=}$$
 1 - $\frac{3}{4}$ = $\frac{1}{4}$

$$\boxed{5}$$
 $1 - \frac{4}{6} = \frac{2}{6}$

$$6 1 - \frac{9}{10} = \frac{1}{10}$$

$$7 1 - \frac{7}{8} = \frac{1}{8}$$

$$8 1 - \frac{8}{9} = \frac{1}{9}$$

$$9 1 - \frac{7}{9} = \frac{2}{9}$$

$$0 1 - \frac{2}{7} = \frac{5}{7}$$

①
$$1 - \frac{7}{10} = \frac{3}{10}$$

$$1 - \frac{2}{5} = \frac{3}{5}$$

$$1 - \frac{4}{6} = \frac{2}{6}$$

分数の引き算 [7]

①
$$1 - \frac{4}{5} = \frac{1}{5}$$

$$2 1 - \frac{2}{3} = \frac{1}{3}$$

$$3 1 - \frac{5}{6} = \frac{1}{6}$$

$$4 1 - \frac{6}{8} = \frac{2}{8}$$

(5)
$$1 - \frac{2}{3} = \frac{1}{3}$$

$$6 1 - \frac{6}{10} = \frac{4}{10}$$

$$\bigcirc$$
 1 - $\frac{7}{9} = \frac{2}{9}$

$$9 1 - \frac{4}{7} = \frac{3}{7}$$

$$0 1 - \frac{7}{9} = \frac{2}{9}$$

①
$$1 - \frac{4}{8} = \frac{4}{8}$$

$$1 - \frac{8}{10} = \frac{2}{10}$$

分数の引き算 [7]

①
$$1 - \frac{5}{7} = \frac{2}{7}$$

$$2 1 - \frac{4}{6} = \frac{2}{6}$$

$$3 1 - \frac{2}{4} = \frac{2}{4}$$

$$4 1 - \frac{4}{8} = \frac{4}{8}$$

$$\boxed{5}$$
 $1 - \frac{3}{6} = \frac{3}{6}$

$$6 1 - \frac{6}{10} = \frac{4}{10}$$

$$7 1 - \frac{6}{9} = \frac{3}{9}$$

$$9 1 - \frac{5}{10} = \frac{5}{10}$$

$$0 1 - \frac{6}{7} = \frac{1}{7}$$

①
$$1 - \frac{7}{8} = \frac{1}{8}$$

$$1 - \frac{3}{7} = \frac{4}{7}$$

$$1 - \frac{8}{9} = \frac{1}{9}$$